Divide by 0.1 (I)

Find each quotient.

0.5892 - 0.1 = 0.147 - 0.1 =
9.903 +~0.1= 3.61+0.1=
8.0898 - 0.1 = 7.384 + 0.1 =
1.961 + 0.1 = 9.231+0.1=
8.1+0.1= 744 + 0.1 =
19+0.1= 7.57 +0.1 =
49 +0.1= 4808 ~ 0.1 =
2.64 + 0.1 = 2.7+01=
09+0.1= 6.6 -0.1=
748 - 0.1 = 6.49 +~ 0.1 =
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Divide by 0.1 (I) Answers

Find each quotient.

0.5892 + 0.1 = 5.892 0.147 = 0.1 = 1.47
9.903 +- 0.1 =99.03 3.61 +-0.1=36.1
8.0898 + 0.1 = 80.898 7.384 +- 0.1 =73.84
1.961 = 0.1 =19.61 9.231+0.1=92.31
8.1+0.1=81 744 +0.1=74.4
1.9+0.1=19 7.57 +-0.1=75.7
49 +0.1=49 4.808 +~ 0.1 =48.08
2.64+0.1=26.4 2.7 +01=27
09+01=9 6.6 -~ 0.1 =66

748 - 0.1=74.8 6.49 +- 0.1 = 64.9
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